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llpou3e00HbIE
asieMeHmMapHbIX pyHKUuU

C=0

1
(kx +8)' = k ) =5
(x")' = nx" "~ sin'x= cosx

() o coS'x=-sin'x



Haudume npou3e00HYyI0 byHKUUU

(2x’)’



Haudume npou3e00HYyI0 byHKUUU

(-2x + 16)’



Haudume npou3e00HYyI0 byHKUUU

(1-15x)’



Haudume npou3e00HYyI0 byHKUUU

(0,2x°)"



Haudume npou3e00HYyI0 byHKUUU

(-0,25x74)"



Haudume npou3e00HYyI0 byHKUUU

(x°)’




Haudume npou3800Hyr0 byHKUUU

(13°)’



llpaeuna ebiducrieHUs
rnMpPou3800HbIX

(f(x)*+g(x))" = F(x)*+ g'(x)
(kf(x))" = kf'(x)

(f(x)g(x))" = F(x)g(x) * f(x)g(x)

(x) _ f(x)g(x) - f(x)g'(x)
g(x) " g°(x)




Haudume npou3800Hyr0 byHKUUU

(-x*sinx)’



llpaeuna ebiducrieHUs
rnMpPou3800HbIX

(f(x)*+g(x))" = F(x)*+ g'(x)
(kf(x))" = kf'(x)

(f(x)g(x))" = F(x)g(x) *+ f(x)g'(x)

i(x) _ f(x)g(x) - f(x)g'(x)
g(x) " g°(x)




Haudume 3HayeHuUe npou3800HOU
gyHKyuu y = f(x) 8 moyke x,

1. y(x) = 2x>-4x°-5x, x,=3
2. y(x) = -8 \x +6, x =4

2x+5

> , X =2
X

0

3. y(x) =



St

f(g(x))=(2x*-x+5)’
f(g(x))=Vsinx




f(x)=tgx
g(x)=4x-

f(g(x))=tg(4x- )



f(9(x))=

f(x)=x3

g(X)=cosx
f(9(x))=
f(x)=cosx

g(x)=x>



HaxoxxdeHue npou3eo0HOU
CJZI0O)XKHOU QpyHKUUU

y(x)=t(g(x))
y "= 1(g(x))g(x)



Haumu npou3e00HYyr0 CII0XXHOU QhyHKUUU
y=1(g(x))g(x)
1. y=V2x2-x



Haumu npou3e00HYyr0 CII0XXHOU QhyHKUUU

y=1(9(x))g'(x)
vl y= (x2_x3)10



Haumu npou3e00HYyr0 CII0XXHOU QhyHKUUU

y=1'(a(x))g(x)
3. y=sin3Xx



llomawHee 3adaHue
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